Production Possibilities Curve

Your club decides to have a booth at the Powder Puff carnival to sell snacks.  The only options left on the sign-up sheet are brownies and/or cupcakes.

a. You only have one dozen eggs

b. One brownie mix uses 1 egg and makes 12 brownies

c. One cupcake mix uses 2 eggs and makes 24 cupcakes

1.  Create a production possibilities curve that shows quantities based on using all your eggs. Label six points on the curve, including the options for making all one snack or some combination of the two. Put brownies on the x-axis and cupcakes on the y-axis.

2. Are there any combinations that aren’t possible based on the number of eggs you have?

3. What would happen to the curve if you broke an egg during production? 

4. Is there an advantage to making one snack over the other? Explain.

5. What other information would you need or want to know in order to make your decision?

